
����������	�
�
	��
���	����	
��
�

� �������

�� �������	�
�
	��
���	����	
�

��

���� �����	�
����� 
��� 	�������������� �������	
���� ��
� ����	
���� �����	
������� ���
�� �����

���������	
���
����������
����������
�������	�	�����������	
�����������
������	
���
�����

 ���������	������	!����
���"�����	����#�
���������
�����$��������
�%�����
���	#��
���

���� ����	
���

������
���
�

�

���� �	�
��

��	����
����� �����
�������� ��	� ��
��	�
��

����� ���������� ��	���� �����

�

��������������� ����	
������  �	������� ��	���� �����	!��

�� �����������	��������	�

"������
� �#$$%� &	���	� '��
����� �(� '�)�����*� ��� &	����&	�������+�����	���� ����

�������	��	�� ��	��� ���� ����	� ,����	�'����� ���� -#�� � ���� .$��'� ���	������� +���

���

��	��� ���� ���� /�,α�0������ "λ�1�2�#-$3�4*%� ���� /�,β�0����� ��	��� ���� ������ +	������

������5	������	�����	�����	�	6������

���� 7�

������ ��	���� 6��	�������� ��� Θ��Θ�7���
� ��	�����6�	��� ��
� ��������%� ��	�
8	�����	5��	�������	��������	���	����
��������%���9��6	�������������	������
�:���

�	��
����

����	� �����


�����
�1�'�
��


�����
�1�Θ� ��
��� ���� &�
�������� ��	� ���
�:
����� ���� ��	�
	�
���)���;����
��5������	�����������	���������8	��	����� '�)�������	��8
�
����	���������

8	��	����;��	�)���<�)�7��	��
���	�����6�	���

'�
� ���� �	��
������ �����	��� ������� ;���	��������� 6��	� ���� �	�
��

���� 8��
���

!�
�����
��!���%�,�	��	�9��%�+����	���
�����������=�:��	�������������������	�����

���� �	�
��

����� 8��
��� ��	���� ��
� 8�
������ ���� ;����
��5�� ��	� ���!�
���� &������
	��
�:��

��
������� '

�  �	�
����� �������� ���� ������ ��	� >8����	� ����	������� ?�
�
@� "A/8��*�� ����

�������
�	��
���� ���� ����� ���
����� ����	��������� ��� ���� �������%� ���� ��	��� ����

'�
�	�����
�������!������B� ��
��	��������	��� ?6	� ���������%� ��	��������� �� �
����	� �

� ����

����	�����������	��������
�	��
�����
�%�)�		����	��
��������	��
�����	���;����
��5�����5�����)���

&������
�����
�Θ����59C�

( )Θ
−

−=
∞


��

�

$

2
*"

*"
µ


�
&


&
���� � � � � � � � � � "#�2*�

?6	�8�	������	5�����	��'�
�	�����
������!������6	�����/�,α���	��
����B�1�3##����2�D�3E��



����������	�
�
	��
���	����	
��
�

� ���(���

���� 0����� ��	� ���
�:�� ������� )��� ���� ������ ��	� A/8��������� ����������� '

� F	
�����

������� �

�� �������� ��� ?	���%� ���� ����+����	���
������� ������
�9��%� ���� !��&�� ������� )���

!�
5�!
������ '������ ���	� ?��

��

��� ��� ��
� ,	�
��

�����	� ���	� �����  �	
���������� ��	�

��������� ?6	� ��������� 7�
���	�
��

�� )��� =��� ':&2�:/� 
������ ���� &������
	��
�:��

!��
����� ���� &������
	��
�:��� ��	� ������� ���5	���  �	����������� G���� ��	�  ���	�
�����

����
� )�	
5���� ��	� +����	��
����� 
����	� ���� :�� '�
� ���� &������
�����
� ����� ��	���� ��	�

G��!��������
�������	�"��
*�������������

���	�&	���
�����+
��������

Θ
=


���

λ
���
 ��� � � � � � � � � � "#��*�

�	�����
�� ���� ��	��
������

� ��	� ���	�
���������
� ���� ���� H�
�����
��!���� ��
��
�

���

��	���%� ����� ���� +����	���
������� ��	� ��� ������ 
���������  �	���������� '/� ���� &/�

��������
�����

?6	� ���� &�
�������� ��	� 8�����
������ �
�� ���� �������
��� ?��
�	I��

�� ��	�

8	5��	����������
�	�!��?6	�������
��D�-EC�

( )
�

# Θ−=Θ∆ ��
�
� ����� � � � � � � � "#�.*�

7��� ���� '�
����� 8	�����������	� ��1��$$�#���� "������
� �#$$*� �	����� 
���� �6	� �����

?��
J�
����� )��� !�1�$�2���� ���� �Θ�1�..K� ��	���
� ���� ?��
�	� )��� $�$#K�� <����	��
8���)�	
����������� �	������ 
���� !��&�� ��	��� ?��
�	� ��� ��	� �������
����� �ΘLΘ�,���
����
���� ����������
�����G�

������ ��	�<����

��
���G�

�����
)�	
��������������������	���

�
����!�������7�

��������
�����������������	�
���		����	����	�����

;�� ��
��	�
��

����� 8�
)�	�� 
���� ���� M	������	������ ��	� ,	�
��

���� 
����
��
��� )�	���
��� &���

���������� �������� ������%� J�� ����� '�
������������������ ���� ���
�	����%� ���� ,	�
��

����

�����  �	!��
	�������� ������
���� ���� '�
��	����� ��	� 	�
���)��� ;����
��5���� ��	� ���!�
����

&������
	��
�:�� ����	� �	�
��

����� 8��
�� ���� ���� A/8��������� �	���
����� '�

����� 6��	�


�
����=�:��	����������

���� &�
�������� ��	� ����
�	��� ,�	��	�9�� ��	���� ���� ���� ������� ��	�  �	�	����	���� ��	�

&������
	��
�:����������������	�,�	��	�9���7����

���	�����		�	�?�	��
�D�#E�

Θ−
=

��


3�$
��
���!��	 '()�'()�

λδ
�� � � � � � � "#�-*�



����������	�
�
	��
���	����	
��
�

� ���3���

�	����� 
���� ���� ����
�	�� ,�	��	�9�� δ� ��
� ��	� N�
���	�
�	����� ��
� &������
	��
�:�
� ��	�
8	��� !��	'()� ���� ��	� N�
���	�
�	����� ���'()� � ����
� ����	��!����	��

� "J����

� ���

&������9*� �6	� ���� &������
�����
� Θ�� λ� �
�� ���� )�	�������� <�

��
5����� ����
N�
���	�
�	����� ����
� ����	��!����	��

%� ��
������� ��
� ������ ��� 7�	
�	� !�	�
����	����


�������
�����8�	���	�
��

%��	���C� ���'()� �1�2�#�2$�.�	����6	�����"�$$*����
�:��

���� ����
�
�����������
���
���������
�������

�

���� �����	��	���6��
�	��
����	�
������ ���!�� ���� �
�
��
���� ��	������ �������	����
���	�

;����� ��� '������ ��
� ,	�
��

�����	
�� ���� �	
����� '�

����� 6��	� �������������� ����

���������5������ H�
�����
��!���� ��	� ����	
������� 8	����� N��	!�� ��	�� ��
�

���	���)�	���
���

����	��� ��	� ;����� ����

��%� ���� ����	� ������ ��
���� '�
��

�����
� ����

���
������������


�����
�	6����
�	������	����������6��
�	��
����	���
�

���
������	����	���

���
���
�
����8�5��������	�
5	��C�

• ���	���)�	
�
�� ��	� ������������ ����� ��	��
������ ��
� =�	�������	��

� "N���� ����

�6�����*�

• '��5��������� ��	� ��	�����	
�����
�������� )��� ��	� 7�

�� ��
� =�	�����	�
�

"��	��I��	
������*�

• ���	���)�	
�
����	�;����������
�
��
���	����
�:�������,	�
��

�����	�������"��������
���	�

?����	*�

�



����������	�
�
	��
���	����	
��
�

� ��.$���

�

?����#�2� 7�9�	��!�����	������	��	���6��
�	��������	�
������"�&�*C���	������

�����;����
�	��
���	����	�����$�


�	���� ��� 8	������������ �
� ��	�� ���� ���	���)�	���
���� ��	� ����	� ������ ��
���� ��	�������
� θ�
	6����
�	���������������������
�
��	���

���� ?
5����������� ��	� 8	���������� *L'� 
59�� 
���� ��
� ��	� '�!��
� ��	� 	6����
�	�������

������������+,���	�����������C�

$+

+

$

*

�-.∆Ω
′

=
σ

���� � � � � � � � � � "#�#*��

��	���	��I��	
�������σ�-.�
59��
��������N�
�����	������	��	�
�������	����	��
��

( )
( )�

�
�

-

�

$

�

L2

L22

� θ

θθ

θ
σ

.����

.���� �	

.���

���







/.

/.
./�-.

−
 −+





=Ω � � � � "#�O*�

�6	� J���� 8	��������
�	��� ���� ,�	�
�����
!��
� H8� ���� ,�	���

�� 78� ���� ����

���
�	��������� ������ �6	� ���� ������������ 
����� ���� ��	��� ���� '���	���	� )�	����������

P������
�����
�Ω�����������	�������
�θ���	��������

��	����	���)�	
�
����	�������������������
�
��
��������9�
59��
��������������������
�����

?����	���	������%���	���
� �	�5
���
���	����	����������������9�!�	����	����)�	��������9�

��������?6	�������
�C�

�
���

$

2







+
+−==
/.

../

�
��

 �	�.����

�

�
�

θθ
���� � � � � � "#��*�

��	� ���	���)�	
�
�� ��	� ������������ �
�� 
����� �6	� ��� 
����	��� �
�������� ��
�	����� ;�����

�
����	� �

� �6	� ��� 
�������� �
�������� ��
�	������ ���
�	� ������� �	���
����� ���� I���������)��



����������	�
�
	��
���	����	
��
�

� ��.2���

'��
�
����	� �����
�����H�
�����
��!������	�8	���%���� �6	� J����'���
�	�����	���+
��#���

������:���
�����	����)���	6����
�	��������������������
���
�����
���

�����������%� ���� ������ )��� ��	���� ��� ��	�M��	�
5���� ��
�������8	����������� 	6����
�	����

��	���%� )�	
��	��� ���� ��	���<��� ��	��� ���� 8	���� ����� ��� �	
��	� G5��	���� !�	�<��
5����

�	���	�����
�� ���	���� ��	��� '�	������ )��� +����	
������������ ���� �
���	���
�����

H�
�5������ ��	� ���	���)�	
�
�� �	�� ��	����� �5���� )��� ;��%� ��	� ;�������	���� ���� ����

8	��������	��
���������������
����
�	���������=���

���������������	����������������%�

�������)�	
����������8	�����������	��
�����	����	���%��	
������������	���������	���
����	���

���� )�	
���������� ���	����� ���� �	���
������ �6	� J���
� �
������ ����� ���������5������

&�
�������� ��	� ?
5������������ &��� �6����� ���������� ����� ��
� ��	� ���	��������	��!�

!��
����� ���� ��� ��	� M��	�
5���� ���� ���� ��� ����� �������� 	��
�����	���� ;����� ����

���������������
��������	�����?6	������	�������������!�������8	������������������������	�


���������'�����

���6��	
�������������!�
�����
���������
��H�	�;���	�	����������	�������

��
�7�9
����	������� ������ ��
� ���� �������������8	����������� ��	��������������	���

)�	�
�������

?6	� ���� �&��7�

������ ��� ;�������	��
�0���	� ��
� N7;� ��� /�������	���� 8	����� ��	����
2-G�;��������� ����	����	���� )���2#�7� ����� 
���	������������

� )�	������� �������� ����	�

������<����
�)���2O#K�	6����
�	������;���������

����

����  !�������
���!�"
�
������#��!$����� �"#��

�

Q��
��������������	��&����	��������������'�7�

����������8	���������������	����
�����

;�������
���

������	������


�����
���	��J�������
��������
���%������
���	���������
�
��
���

����	� ������ <����
� φ� )�	�5	�
� ��
�	������ 8	���������� ����	
����%� ��	��� ���	���� �� ����
?
��!���� 01'� "0�!�� ��� '�����*� 6��	� ����� ��
��� ?
��
�	����� �
����!������ ����

��� ��	�����

 �	�5	�
���
�	�����=��
����������
�����	����	������������������	
�����
����	�7�

�����59�

)� �� L�= � ����	
�����
�����+�
������������������������������	��� �������	���	
��

����

01'�2�"�*���������!��	������
���	��	����	�����



����������	�
�
	��
���	����	
��
�

� ��.����

�

?����#��C�7�9�	��!��� ��	� ���'�7�

�����C� ��	� �����

����� ;����
�	��
� ���� ��	� ���	���� �$� 
�	���� ���
8	��������������������	�����<����
�φ� ��
���	�8	������
�	������'��������� ��	����	���������	����
���
�
��	���

�

���� ?
5����������� ����	� ��
�������� '���
�	��� */L'� 
59�� 
���� ��
� ��	� '�!��
� ��	�

)�	�5	�
��
�	�������8	����������+/,����	�����������C�

$+

+

$

*

/

//

∆Ω
′

=
σ

���� � � � � � � � � � "#�(*�

������ �
�� ��	� �������		��������
� ∆Ω� �6	� ���� 7�9������� �������� ���� ���� '�!��
� ��	�
8	�J����
������ +3� ��	�� ��	6�	���

�
� 6��	� ���� ��
���
����
������ ��
������� ��	�

�����	��	�
�	��I��	
�������σ8��6	�8	����������������	�M	�����
!��
�H8���	����������	�������
���C��

φ
σ

.

��

$

�

��


2

� 



 +





=Ω /

././/

�

��

�

���






���� � � � � � � "#�3*�

���� ��:���
�� ���	���� �6	� )�	�5	�
��
�	����� 8	���������� ��	������� 
���� ��
� ����

��������
�����?����	��������C��

�

�

$

�

*"

��
-

./

./
�

��

��

�

�
�

+
==

φ
����� � � � � � � � �

'��
���!�	��&���	�5�	�� �������������%���
� �	
�� �����	�=�������	�����������
�	������	�%� ����

���� <��� ��	����� ������ ���	���)�	
�
�� �	���	�����
� !�	� ��� ��	� 8	���� !�	6����
������

<��
�	������ ��
� +
������ ��
�� �6	� ���� ��
� ��	� 8	���� ��	��
��
�	������ 8	����������� ����

����	���)�	�	
���������	���)�	
����������	���
��������������&������=��������
�
�����

����7�

��������	�������;�������	��
�0���	���
�N7;�����2�$�7� �(O,	���	�����6�	�����	�

������� '������ ��	� ���'�'���	���	� �
�� ��� D�OE� ��
��	������� ��	� <����
� !��
�����

8	�������	�
5���� ���� �����

��������	��
� ���	��� �$K������ )�	�5	�
��
�	������8	����������



����������	�
�
	��
���	����	
��
�

� ��..���

��	���� ����	� ������<����
� )��� φ�1�-$K� ��������	��� ���� ?
��
�	����� �6	� ���� =M?�7�

����
���	���2�.������������	�����������������
����	���������

����'�����������������	�?
�������

������
������ /�����
�8
�����������	��� �	!������ ���� ���	�����

���� �	��
���� �� ��� �����	�

�����������	�=M?�?
��
�	���������������	������������G���	����������	��������������	�����

������ P������
	��������
� )��� 2�#�� �
	�� ���� �		������	�� <����
���
�
���� ���	���

∆φ�1�±$�$OK��

��%�  !
�����
�����������
�

�

?6	� ���� F���	
������� ��	� ���������	���
����� ��	���� )��� �������� 8	�����

��
��	�
���	�������	�
������'��������� ������	������ ;�� ��
��	�
���	�������	�
���� "0�M�

--$*���	�������
���	����
�	��
���������	����	����)���2$���
�#$��� ���������8	��������

��	���

H����6��	� ������5��!���
����������
����	���'�
������������� ���:����������������� 	�
��	��

����8	������������)����������	�	���
�	��	���;����
��5����	������'���	��������	��
���	���������

����8	�������	�
5�������
���������������5	�
���	������5���������
5��
����)�����	� 
���
���

=���
����� ��	� 8	���� ��� ���� ��	�� 	�����	��
����	�� ���� �����

��� '���	��������� ��
�

�
���	����
�	��

� ���� ��	� 8	���� �

� +	����	�� !����	������ &���  �	�������� �����
�������	�

+
�

��
�	���� ��	�� !�	�  �	�������� )��� '��
�������� ���� 8	�������	�
5���� ��	���

7���

�
����	����������8	�����	5��	�)�	��������

����  !
�������
�&
����	
��

�

�����������		
�
��
�

�

'�� ����	�  �	�������

��

�� ��
� !���� )�	
���������� �
���	�
����� 0����	�� ������ ������ ��	�

����	
�����
������'�
�	���
�	������
���	�����)���������0����	������������	���6��	���
����
�����

�����,������
�������%����� ����������
��!�� �
�������	������	��!���	�?�	������	����G�)���
�

�
��� ;�� ��������	���	��
� ��
� !���� )�	
����������0����	����9������ ��� ����,
������ ������

��������%��������,������
������������������������0����	6��	�5���������������
��!���
�����


���%� 
�
����� ���� ,������
��

��� ���� �
������ =����	���	� ������� &�
����� J������ ����

=����	���	����	
������!��
����������������,������
��

�����
����
���������=��	��
��������

F�����	��
%�������9�	�)������������
����������	�7���	��
������	�)�����	�=����	���	����5�����

���� =��	��
�������� ��	�� ��
���)� ��!5�
�%� ����� ��� ,������������ ���� ��	� ����	���

=����	���	��
���	����������
�&�!��
����

��������
��9��������R�����������



����������	�
�
	��
���	����	
��
�

� ��.-���

0

�
. ��

∆
∆= � � � � � � � � � � "#�2$*�

��!�������� ���� �

� ��������,�����!�������� �����  �	!������� �
�� ���5����� )��� =��� ��	�

7�J�	��5�

�����
�	5��	���
���)�����0����	
�����������������)������
���	����
��������

����7�

��������
���������,�����!���������	����������������N7;�����	�������7�9�������

��	�����6�	�������=��	��
����������	��� ������ ���� ����	�����
�	���=����	���	� )��� -#� K/�

��������	�=����	���	�����	��!�)����=�1�2$�,���	�����6�	���

�

��

	��
���

���������

�

����0����5��������ρ��!�����	���!��	�!��	����
��!���
����<���	
�����σ�
�����������	����	��C�

*"
2

�� ��� µµ
ρ

σ +==
����� � � � � � � � "#�22*�

����7�

����)���ρ��������������	���	���
����������

�����
� ��	
���!����9��	5��
�" �7�
2$$%�  �&� N�
�
����	��	�� ?	�����	�LM�*�� ��	�7�9����� ���
�
� +�	5��
� ��
����� ��
� )��	� ����

����	������� 5I����
����� ���'�
����� �� �����	�������7�9
���!������	��� ���� ������� 5�9�	���

����!��� �
��9�� ���� ���
�����	� ��	���� S��	� ���� ������� ����	��� ����!��� ��	�� ���� ����

�����

��������� ����

���� '�
� ���� R���������� ��
� ��	��� ���� ��������� �	����� 
���� ��	�

?
5��������	
�����������59��

'.  
&

�
� = ��� � � � � � � � � � "#�2�*�

���� ���� ������	�����5������� ,�		����	�����	�  '�� ?6	� ���� +	��!��

� �	�9�	�

8	������	����

�	�
�"
�44�.*���
�C��

#-�-�
�L ≈= π' ����� � � � � � � � "#�2.*�

��	��� 7�
���
�������� ��
� ?
5��������	
�����
� �.� ���� ��	� ������������� �	�5
�� ���� ����


��!���
�����<���	
�����ρ��

?6	� �����	���	���5������ 7�

������ ρ"=*� ��	���� ���� 8	����� ���� ������ ,����	�	5��	� ����
<5	��
�����
��� ������
���� ���� ��� )��� ��	�8���T+�����	��� D��E� ���������	�� D?���� #�.E������

,�������	5������	���������

�����
��
������=	������0���
�
��	
�������	�8	�����������������



����������	�
�
	��
���	����	
��
�

� ��.#���

����
��������	�7�9�
��!� ��
����� ��
� ����	� ��	��I��

�� ",����
��� ��$*%� �
�����	� ",����
���

23O*�����7�9
��

�������
��	� ",����
����$#*�����������	������	�+�	5�����
�����6��	�������

;����&�
�)������������;��	���
��	��������7�9�	��	�����;��������N��,	��
��������������

�����	���	���5������7�

������ ���&�	�����)���.$�,���
� .$$�,���	�����6�	����	���������

�����	������
�=����	���	���
�,	��
�������	��
����������


���������;��	�7�9�	��	�����

�

?����#�.C�8	������
��	��������������	��	�8	�����6	������	���	���5������0����5�������
��

����������7�

����
��
�N�

������!��������

�

��	�
��!���
����<���	
������	�����
����������	�)�����	�8���T+�����	�����	��C�

�
&

�

&

�
 



 −=

2-

�.

.-

2�

�
��

πρ ���� � � � � � � � "#�2-*�

��"��!���;�J�
���������������������6��	��!�����	������	�������,�������� ��"��
� �
������������

��	� �������� ���� �� �
�� ���� ,�		����	�����	%� ��	� '
�����	���� ��	� 8	�������������	����

��	6��
���������������
�!������������
����	���D�(EC�

��
�&�

&�
�
�

2-�.

.-2�

�

2�
�

2L

2L
��
� =





+
−

���� � � � � � � "#�2#*� �

H�	�������	���7�

������	����)�������7�9�����������	�	��	��������,���������	������

!��
�
�����	�����	��������
������	��
���������!�
��	������	�7����
��	������
�����

��������������

�

?6	� ���� 7�

���� ��
� N�

������!������� ��	��� ��	� �
������ '������ ���� �6	� ����

�����	���	���5������ 0����5�������
��

���� )�	�������� H�	� 7�

���� ��������� 
���� ��	�

,	��
���� ���� ���� 8	�����	5��	� !��
����� ���� 8�

������� ����
� �
���	����������



����������	�
�
	��
���	����	
��
�

� ��.O���

"8	�������	�
5���� 
���	����� !��� 7�������
�*%� ��
���	� ����� ��:���
�� �������
����

?
�9�������)�������$�3�=�

���	!��������	�N�

������!������
�����������������	���

�-

2.

&

�

-



�) = � � � � � � � � � � � "#�2*�

���� ��	��������
����� ?
�9�������-��<��� ���� �������������!������� 
�����
�� ��
� �	!�������

��
�N�

������!�����������=�����
�7�J�	��5�

�����
�	5��	
�����	����
�7�9�	��	������
����

�����	� ���� 7����
��	�� ��
� ���� ��	��� !��
�
���� 8�	��������� ��	� ,���������	������ ����

F���
������	�7�������
�	���������	��
���������!�
��	�����

?6	� 8	����� ���� 6��	�������� �
���	����
������� �!��� 6��	�������� 0����	
������� ����� ��	�

R�������� �)5ρ� ���� &����
�������� B� ��	� 7�J�	��5�

�����
�	5��	� ���� 7��� ���� )�	���������
'��������������&����
������������
�������
�$�2����L 
�����

�����	�����

�

�
������������������
�
���

�

��
� N�	!
�6��� ��
� 7�9�
��!��
� �6	� ���� ��	�����������
�,���
������ ��	� ����� ���	���

7���
�	�� F���� �.O� )��� ,����
���� ���
�� ��	��� 6��	� ���� ;����&�
� )��� ������ ;��	�

7�9�	��	����)���������/������	���
����	�������7�

��������������

�H���
���!�������	�

 ��	
���!����

���� ��	�����6�	�� ��	����� ���� 8	�������������	���� ��
������� 6��	�

7�9
���!��%�����������	�8	���������
��!����	�����

��'� (
����
	
!���
�&����)
!!
�!
��
*��	�
����

�

��	��� 7�

���� ��	� !��������
�
���� 7��	���

��
����5�������� "=�7/%� ����� 	�
�
)���

���	���)�� ��������)���*� 
59�� 
���� ��
�  �	��
���� ��
� N�
�
����	
� ����	� &�
��������

���	����	�
��	������
� �	���	��� �
���������
�
%�����������
�������������
������!����!�%���9�

�����
�	��
���7��	���

��� ���5�����)��� ��	�0����5�������� ��	�8	���� 	��
�����	����	�����&���

�	���������	�0����5��������σ���	�������
�������	�����0�����
�	5��	����∆σ��	�����
��������
	��
�����	���7��	���

��
��
�����/����∆/������ 	�
���)��Q���	������	� 	��
�����	����0��
�����
�
���	���	�����
���	�0����5�������
5���	����D�3%�($EC�



����������	�
�
	��
���	����	
��
�

� ��.����

*" �� ��$�$
/

/ µµσ ∆+∆=∆=∆
� � � � � � � � "#��*�

���� ���� ���
���)��5�
�����	� '%� ���� ����
��� ����	������ S��	
���9
�����
�	5��	�

���!���	�������� ∆��� ∆�� ���� ���� !�����	����� &����
���������� 6�%� 6��� ���� '�	������ ��	�
�
���	������	��
�����
����� �
��!�����6��	��������	���
6����������������	�����
��∆��2�∆��
���� ��
� 7��	���

��
����
� �
�� �	���	�����
� ��	� ������ ��	� &����
����������� G���� ��	�

'�	������ ���� ��	!��� 8�

��� ������ ���� ����	������ 0�����
�	5��	� �����	� ��� ��	��

�����
�
�����������

����� ��
� '��
���)�	��
���� ��
� 7��	���

��
����

� 
�����
�� ��
�

'��
���)�	��
���� ��	� 0����5�������� ����	�� '��� ���
�� <��
�� ������� �6��
��
6

�� ���� ����

0�����
�	5��	�������� ��������� ��	����� ����  �	�������� )�	
��������	� '�	�����
�

��

��
5������	
������������	������F���	
���������	�0�����
�	5��	�����������M��	�
5��������

 �
�������

����7�

��������	���� ��� ������ �����	!��

���+�	5�� ��	� ?�	���8��������� ��	�����6�	���

��
�+�	5���	�����������������G��U0?�0�
�	���������<�

��
5�����2$-���������#�.�����

�

'�	�����
I��

��� &��� '�	������ ���� 2$-����� "���� 2���� *� ��	�� ���� ��	��
���� 6��	� �����

�	�9�	��=�������
�	���	���

�������	����	�
5����������'�	����������#�.����"��1���-�� *������

'�	�����
����������	���������2�2$2O�8�������L��������������7�9�
�����	����

�	�)�������

$�2���������H�������	���
�'�	�����
��

�
����	��������2#��
��?6	��	�
�����
�
���7�

������

�������	�7�9�
�����������	��
����	��6��	�����)�	��������
������������	�
��	����	�������
�

	��
�����	��� 7��	���

��������
� ��	�� ���� ������ =	��
������	���	��	%� ���	����	�� ���� ����

0�
�	��

%� �����!��������� H�	� �	������� ��	� 7�9������������ ����� 6��	� ��
������ )��
��

=	��
��������������
����	�����



����������	�
�
	��
���	����	
��
�

� ��.(���

�

?����#�-C������
�
�9����	�����6	�����7�

������	�7��	���

��
����5���������

�

��+� ,����
!
�����
���
���������
�

�

���� 8�����
���	����
����	�
������ 
����	�� ;���	��������� 6��	� ���� �����
����

H�
�����
��!������������&������
���	��������&�	�������	�M��	�
5���������8	������	�����

 ������ ���� 8�������� ����	� �������	���� ���	���� ��
�	��
��� A�� ����� '�	�����
���	����

����	
�������� ���� !��
����� �������������
���	����
����	�
������ "V8�*� ����

8����������	����� �	�9�	� ���� 2$$$� � � ���� F
�	�)��
���������
���	����
����	�
������ "F8�*�

���� 8����������	����� ��
� ���� #$� � �� <�	�� ���� 8������ )��� ������ �
���	��� ��� ?�
���	��	�

��
�	���	�������
������8����������	�����	�9�	��

�����&������
���	���%�
���	�5
����
��
���	���

�����������
�������	���%�������	������	��!�!��
�����8����������	����������	�������
� ������

��!������� &������
���	���� ��
� �
���	��
� ���
�	������ 0����� ��	� ;���

� ��
� �
���	��
� ���

���������M��	�
5���������		���������
�
���������
�
��
�������9������M��	�
5���%�������
�����

?�
���	��	�)�	
�

��������������������	�����
��	
�)���'��
�
���	���������	����	��������
�	�

���������
����������	�8	��������
���	�
�����,������%�
����9�
��������?�	���G�)���
�)���8	����

�����������	����
��������'������
�
�G�)������	��������&������
���	�������!���������
����


����������5�����)�����	�'�
�	���
�	�������	�8	���������&������
���	�����	�����
����������

C�



����������	�
�
	��
���	����	
��
�

� ��.3���

.��
���- ��� Φ−−= ν ���� � � � � � � � "#�2O*�

����'�
�	���
�	�������
������	�����	
�Φ�������	����	���,�
��	��	������
�������

���� M��	�
5�����������
�������� ��	� 8�����
���	����
����	�
������ ��	�� ���� N�
��� ��	�

����
�	��� �	����� <��
�	����� λ� !��
����� ���
�
��
����� ���9��� ";��
�
���� 7���� ?	��� 8���%�
;7?8*���	�8�����
���	����� ���8	��������	��
� ��
��	�����������<��	
�����
��������(%� ��9�

���� ��� ��	� =����� #� ����	����
� �
���	��� ���� ?�
���	��	� ����� )�	��	���� �
�
��
���� ���9��

)�	
�

�������%��������:��������

�������	�=�������C��

λ
#

�(
−

= ���� � � � � � � � � � "#�2�*�

λ� ����� ���� ��	� =88��+
�������� "����� ���� '���	��� =�����%� 8���

� ���� 8���*%� ����	�
������!��	����?�	����	�&�����+
�������%���
��	��������	����D(2EC�

( )[ ]{ }��
LL
�L ��� ��� / +−= γβλ ���� � � � � "#�2(*�

λ��
���������
�
��
�����	����<��
�	��������4%��������
���	�������	�������� %���1�(�(�"G)ρL7*1�
����8
�
��������	������	��	������
���	��������� %�ρ����������������L��.%�G �����'�!��
���	�
 �
��!�
���	������	��7�
��6
�����7���
�7�
���
�	���������β%�γ%�/�������
����8�	�����	%�
�����6	�����'���

����)���+
��#�2(�����:��	������

��	�����
���;7?8�<�	��������!����	�����

?6	�
�����
�������D(�EC�

β�1��$�2$�W�$�3--L"���W���*�1�W�$�$O3ρ$�2�
γ�1�$�232ρ�$�#�
/�1�2�3��T�$�32�F�

��1�#.�-�T��$�(�F�

F�1���
�L(�3�-�

�

����
���������	������	�&���
6�������� ��?����#�#�!���������
����	���������<��
5������6	�?����

����!��� �	�
�����)���+�'
�����'
�M.��



����������	�
�
	��
���	����	
��
�

� ��-$���

��

��

��

��

 �

 �

�

!"
#
$
�%
 
�
� 
�
�
&

� ' ( ) *

 ��
� � + � ' ( ) *

 ���
�

,���
����������
��%�-&

�.�/�
�/��0�

�#���

�

?����#�#C�7��� +
��#�2(� ��	�������� ����
�	�� �	���� <��
5���� ��	� �
���	����� !��
����� ���
�
��
����� ���9��� ���
'��5���������)�����	����	����

�

����V8�LF8��7�

��������	���� ��� ������0����
�������	�����	� "0N�� 2$*� ��	�����6�	���

?6	� ���� V8��7�

������ ��	��� ���� ��	� 7��,α���0����� ����	���� "�ν�1�2�#.�O�� *%� �6	� ����
F8��7�

������������	�N��;�0�����"�ν1��2����� *��

�


